Models Available for this test:

Constant Velocity Model:

<
I
=4

AX=VAt or X=VAt+x;

Force Models:

Constant Velocity <> Y, ¥ =0

Constant Velocity < E Fy=0

2F=F

net

£ = ma

Force of Gravity Equation
£ =098 m

Force of Friction Equations

Fr=ul £y =l

Force on a Spring Equation

F, =kAx (k=spring constant)

Constant Acceleration Models:

7 At
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Ax =75 a(At’ +viAt  or  x;= 5 a(AD)’ + AL+ x;
Av = aAt or vi=aAt+vy;

vi = viZ +2aAx

Acceleration Due to Gravity Near the Surface of the Earth:
a=98%

Trigonometry Equations
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sinf = —
/4
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cosf =—
/
o
tanf = —
a

Energy Models

Energy Stored Gravitationally
AE, = mgAh (g=9.8 7/‘;

Energy Stored Elastically

1 .
AEq =75 k(x¢ - x7)  (k=spring constant)

Energy Stored Kinetically

AE, = % m(ve - vi)

Work Power
W= FAx p_ AL
As



